A sII=dH sEMY
B soiAme Ys)
el sEJ|gtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYII=HE sHEML 18,485,568 19,182,441 A\6%6,873
= 1,034,150
[ 500,000
= 2,614,3%4
Ea 14,337,064
sZ3dH Hal 13,454,189 13,527,865 73,676
= 371,250
[ 500,000
= 2,112,355
= 10,470,584
sdJlgtxd 5,714,950 3,644,730 2,070,220
= 500,000
[ 150,000
T 5,004,950
sdJIgA Y 332,500 327,230 5,270
201 er2 3| 277,700 269,230 8,470
01 At2t2lt] 52,220 42,220 10,000
Oget=ZHI 10,000,000& 10,000
o=l 8,000 »7 =120 6,720
OuUctaH ol =28
500,000& * 122 6,000
OFAZel 28 72 & =44l
1,000,000& «12& 12,000
OfHe 28 =¥ 100,000 x25 2 +33] 7,500
OXSrZ MEEXI0 2Ret 2ARE=5 +
= 500,000& *102] 5,000
Oozletd Ngsits 2= MAY
500,000& x102] 5,000
2 52434l 225,480 227,010 21,530
O8&82= € MA 9,280
— XS XAl 4,000,000 4,000
—EMEE RER=s
1,800,000& «12& 21,600
—HNLEZZ Y |22 A
500,000& 122 6,000
—EA dojerd 2|t 9
630,000 x 122 7,560
—ZA AgetE | S
250,000 * 122 3,000
—EA 2031l E4 580,000& 122 6,960
—HOIEYsS 2l 80,000& * 122 960
—&iote=k 01ER3 550,000 x 12 6,600
—ARA & RUAE RS
3,500,000& ~12& 42,000




A sII=dH sEMY
3 gy 29
el sEJ|gtxd EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
—oXNHE Hi 24E
300,000 *20H A 600
OAIZZEHl | 1,000,000 *43] 4,000
OXE eI 119,200
—2EXE A= 62,000,000 62,000
—ASIY 288 30,000,000& 30,000
—2EXE RAZl 27,200,000 27,200
OF2 SHEXNY 24828 2943
3,000,000& 3,000
202 04| 13,800 18,000 A4,200
01 =LHO LI 13,800 18,000 24,200
OsgdJ18 g2 13,800
— 2G| 150,000 x7&* 122 12,600
— 22|04 H 100,000& * 122 1,200
203 =4l 5,000 4,000 1,000
03 A=A H R FZ| 5,000 4,000 1,000
Os8lId g2=xd 5,000,000& 5,000
206 M=Hl 1,000 1,000
01 MHZH| 1,000 1,000
(@FSPIPY E=nd=t 1,000,000 1,000
401 Al HIZ 2018 30,000 30,000
01 Al&H| 30,000 30,000
O=sglIsdE(2%) Ftl
30,000,000 30,000
405 AtatE=H 5,000 5,000
01 TR =S FISHI 5,000 5,000
OARd == HJIBIE 1A
5,000,000 5,000
sdJg 4T 120,000 117,500 2,500
101 @124H| 50,000 72,500 22,500
M JIZtHZ22 S 2 50,000 72,500 A22,500
Osgol &= ZAF 22|
2,500,000& «2H~4& 20,000
Ot dHs3 2 MEEA 22
200,000 x102 * 152 30,000
207 AR 50,000 20,000 30,000
01 H7ESHI 50,000 20,000 30,000
Osg - =& & A3 2 -8
50,000,000 50,000
401 Al HIZ S 0HbI 20,000 15,000 5,000
01 Al&H| 20,000 15,000 5,000
Os HEHSE 2 THBIEA BEoAlE £X
Z0,000,000% 20,000
WeIEsSYAE AR 5,262,450 3,200,000 2,062,450




A sII=dH sEMY
3 gy 29
el sEJ|gtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 500,000
=S 150,000
s 4,612,450
401 Al HIZ R 0HbI 5,262,450 3,200,000 2,062,450
[ 500,000
= 150,000
o 4,612,450
01 AlZH| 4,444,854 2,491,000 1,953,854
OUstHESETHAILE A= A
4,444,854,000& 4,444,854
[ 500,000
= 150,000
Ea 3,794,854
02 Zeltl 817,596 700,000 117,596
OUSESSHAIE AIF A
817,5%,000& 817,596
xS |4 X 1,961,149 4,001,037 /2,039,888
= 300,000
= 1,661,149
AS |4 XNE 462,060 666,700 A204,640
201 Ler23| 7,300 6,340 960
01 At2teltl 7,300 6,340 960
OANFES & MUES 500,000 *32| 1,500
@r=] 8,000& x5& 120 4,800
OglUA 2AHH A2F F2H|
1,000,000 1,000
202 04l 10,200 10,800 2600
01 2LHoIH 10,200 10,800 2600
O=LHxHl 10,200
— 2L o4 150,0002 6«12 9,000
— 22| 0t| 100,000 ~12& 1,200
301 22N 14,560 14,560
1 AREIXE S 14,560 14,560
OdUA RCOUIOIE E3HI
80,0003 x2F 132 +7E 14,560
401 AlEHIZ 2018 5,000 10,000 25,000
01 Al&H| 5,000 10,000 /5,000
O&LIA LHIELOIRA FAES
5,000,000& 5,000
402 2I2F X201 & 425,000 625,000 200,000
01 RIENSA S E X (XM THR) 425,000 625,000 A.200,000
OsEs=sgdtgdst s8AY
40,000,000 * 1071 2= +50% 200,000




A sII=dH sEMY
B =oiAme As)
el MAS =4 AE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBxtatd el 243t A~=J|8 gAY
5,000,000 *507H 2= +50f% 125,000
OUlAS &= MUK At
10,000,000 *10IH A +50% 50,000
OUASHF |4 AR ZEA
100,000, 0002 *17H 2 *50% 50,000
gdEe |4 780,124 405,080 375,044
101 @124H| 97,964 85,000 12,964
M OIRINZZE2NSE S 97,964 85,000 12,964
OLt THHE Sist 2a2y o=y
2,524,000 «3H 123 90,864
OZAIAE 12y 78,8802 x3& *30& 7,100
201 =3 109, 160 105,080 4,080
01 At22t2lt] 39,600 33,800 5,800
OuF (A2 22 & Rols MH
3,000,000& *24] 6,000
OgAIZE g (&Y, HI0IZ, HIZ S)
3,000,000 *23] 6,000
OgdzEet SE=S 78 3,000,000 3,000
Obt Z2% 29 U 424 25 2
1,000,000 #62] 6.000
OMA 2 SIi3) 2
100, 000& x5 & »23] 1,000
OFet Sakvtg |54 X& Ae St
1,050,000« 128 12,600
Ogxdzet 28 & 214
500,000& x102] 5,000
2 52434l 45,560 36,280 10,280
O dE2FdHH ROUBHIES
366,000 *50H A+ 123 21,960
OstEEUSLME Q3
1,000,000 ~12& 12,000
O = HE AI2KXI]
8,000,000& 8,000
Oxtg 7Al2el & 2FU
300,000 x 12 3,600
03 A= I 24,000 36,000 212,000
OUMg SHS 9Ist Mg Y BRHA
12,000,000 »23] 24,000
206 M=Hl 50,000 50,000
01 MHZH| 50,000 50,000
O=et i Nz 7Y
10,000,000& %53 50,000
307 el2tol & 110,000 110,000
04 CIZHHAMAMH 2 & 110,000 110,000
ORMl52| st=Eet RS d=U2 Al
70,000,000 70,000




A sII=dH sEMY
B =oiAme As)
el MAS |54 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONigal &= tolo] & AL JHZ
40,000,000& 40,000
401 AIZHIX R0 83,000 36,000 48,000
01 AlZH| 80,000 30,000 50,000
OB HERSHME SXEe
10,000,000& *3& 30,000
Ol ZEHHL A=A
25,000,000 2= 50,000
04 SMALZHEAIZH| 3,000 5,000 A2,000
OsSutE 82 & HiEH 4X
3,000,000& 3,000
402 212+ X201 & 330,000 330,000
01 QI XHE AL E R (KM THE) 330,000 330,000
Ogt=t A MO IR A
30,000, 0002 x22H 2 %50% 330,000
SUTRASSEII=RE A 600,000 400,000 200,000
= 300,000
= 300,000
402 2IF X201 & 600,000 200,000 400,000
= 300,000
Ea 300,000
02 QI X2 AL E R (01X THE) 600,000 200,000 400,000
OSUIE 858l N2
600,000,000& 600,000
= 300,000
s 300,000
sEMSSZAAAL (XHAI) 118,965 108,069 10,8%
307 glztol & 118,965 108,069 10,8%6
02 LB HAHE L 118,965 108,069 10,8%
OUEHSHAAY S Q12| 118,965
—A2=E 3,100,000 «1H*12& 37,200
—MNSFE 2,500,000 2H =122 60,000
—40f 8= 14,714,760 14,715
—&A= 2,350,000 *3H 7,050
SAsgel |4 1,103,790 1,207,798 104,008
= 71,250
[ 92,635
Ea 939,905
dnsgel |4 K 450,240 372,640 77,600
201 el 11,840 11,840 0
01 At22t2lt] 11,840 11,840 0
Oget=ZHI 500,000 x4H 2,000
OAsHE &2 MM
2,000,000 *32] 6,000




A sII=dH sEMY
3 gy 29
el dasgel 54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=gH| 8,0003 x4 » 120 3,840
202 04l 8,400 10,800 N2,400
01 =LHOHI 8,400 10,800 2,400
OHsHE g 8,400
—2LH 04| 150,000& x4« 123 7,200
— 22|04 100,000~ 12& 1,200
401 Al HIZL 01| 100,000 100,000
01 Al&H| 100,000 100,000
OADIEYE A AsHEHA 24 EAHE
sl 100,000,000 100,000
402 2IZtA=01d 330,000 350,000 /20,000
01 QI XHE AL E R (KM THE) 330,000 350,000 /20,000
Odlselol HsE 12l
10,000,000 *307H A +7(% 210,000
OtlAsgel =8| X2
10,000,000 *10JH 27 0% 70,000
OHgHES F==c| N2
10,000, 0002 *107H 2 %50% 50,000
HsHE SUKZAG(EX) 179,000 340,000 /161,000
== 53,640
o 125,360
101 e124d| 64,800 60,000 4,800
[ 19,440
T 45,360
M ORINZZ2NSE S 64,800 60,000 4,800
OAsHEXNZEH 2g el
2,700,000 2H* 122 64,800
= 19,440
o 45,360
201 fet= 3| 20,000 45,000 A25,000
s 6,000
s 14,000
01 AtR2te|Hl 20,000 45,000 /25,000
OFAsHEXNHHE 2H|
20,000,000 20,000
< 6,000
s 14,000
202 04l 4,200 4,000 200
= 1,200
Ea 3,000
01 2L AL 4,200 4,000 200
OFASHE FXXSAY 0|
4,200,000 4,200
== 1,200
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A sII=dH sEMY
B =oiAme Ys)
el dasgel 54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 3,710 3,710 0
OH=egdHH 2 3,710,000& 3,710
= 1,120
o 2,590
sgol SAsd 4,674,300 4,674,300 0
s 1,869,720
s 2,804,580
sogele=¢ 4,674,300 4,674,300 0
< 1,869,720
[Ea 2,804,580
101 @124H| 63,314 63,314 0
& 25,326
= 37,988
M ORNZZE2NSES 63,314 63,314 0
Os0gol=g 22y 63,314,000& 63,314
= 25,326
[Ea 37,988
201 fer= 3| 6,800 6,800 0
s 2,720
s 4,080
01 At2t2l] 6.800 6.800 0
OSHAHS f2=+¢E
400,000 %179 2 6.800
S 2,720
= 4,080
301 EtE N = 4,604,186 4,604,186 0
= 1,841,674
Ea 2,762,512
14 JIEt 243 4,604,186 4,604,186 0
Osogel=¢ 4,604, 186,000 4,604,186
s 1,841,674
s 2,762,512
s8&dg 2l 4,996,979 5,620,176 A623,197
= 662,900
< 501,999
s 3,832,080
sgoig X2 1,471,142 1,194,442 276,700
= 51,200
== 333,930
[Ea 1,086,012
sges XA 154,550 175,550 221,000
201 =3 9,100 9,100 0
01 At2t2lt] 9,100 9,100 0




SN SeI|EHE SYYHD
3 =gdg 2
el 8oy X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMRES Y 250,000 +5¥ 1,250
odiEsE Y 250,000 54 1,250
OfIds 288 +=¢ 100,000 x6 & *32| 1,800
O= gl 8,000 +x6& 120! 4,800
202 04l 10,200 13,200 23,000
01 2LHoIH 10,200 13,200 /3,000
OZLH0AHI 150,000 x5 * 122 9,000
OZ2|0t| 100,000& * 12 1,200
203 HR=AY] 1,000 1,000
03 A= PR S| 1,000 1,000
Osgely 2435 =8 1,000,000& 1,000
307 212+01& 24,250 42,250 18,000
02 LB HAHE L 24,250 42,250 18,000
OFdsgel sg&8 E8 =HEHAS X
& 2,500,000 *5H *50% 6,250
Ozd=sge dselt sd Xd(Ede N
¢ 3s) 20,000,000& *17H 2=%90f% 18,000
402 2I2F X201 & 110,000 110,000
01 RIINGSASE X (XHMITHR) 110,000 110,000
O3d=sgel =gdE =& 284l X2
20,000, 0002 x2& *50fk 20,000
OFd=sgol d=eld 4 XA (ML 8)
50,000, 000:& *27H 2= *90f% 90,000
sEIIALE X2 60,000 70,000 10,000
= 36,000
< 7,200
s 16,800
307 glztol & 60,000 70,000 10,000
= 36,000
== 7,200
[Ea 16,800
02 LB HAHEE 60,000 70,000 10,000
OsgZYALE X2 AL
120,000,000 *50% 60,000
= 36,000
== 7,200
o 16,800
FHsgel 29 A - 24 ALE 3,000 3,000 0
= 1,500
= 1,500
201 er2 3| 3,000 3,000 0
= 1,500
Ea 1,500
01 AtR2t2lHI 3,000 3,000 0




A sII=dH sEMY
3 =gdg 2
el 8oy X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFE=00 Hemx 2% AO=A 214
g X2 3,000,000& 3,000
= 1,500
Ea 1,500
e sgel dyg2g X 114,950 114,950 0
== 24,200
o 90,750
307 212+01& 114,950 114,950 0
[ 24,200
T 90,750
02 LB HAHE L 114,950 114,950 0
Ol d=sldEH 28X
121,000, 000& *95% 114,950
= 24,200
[Ea 90,750
=gl Ect2 HifX X 660,000 375,000 285,000
s 198,000
s 462,000
307 212+01& 660,000 375,000 285,000
[ 198,000
Ea 462,000
02 IHB A HE L 660,000 375,000 285,000
O0& =20l Eete B2y X
200,000 *3,300& 660,000
= 198,000
o 462,000
SYEXAIH2CIAIAE =RA2 42,668 42,668
101 212A4H| 20,000 20,000
04 JIZtN2 2N S 2+ 20,000 20,000
OAIAE 22| IR 20,000,000& 20,000
201 2= 22,668 22,668
01 AtR2t2lt] 11,49%6 11,49
Osg2xAt 2N Y SXE
958,000& 122 11,49
2 s5=34l 1,172 1,172 0
OsYEXZAIS 2N A S22
931,000 x 122 1,172
Hedsgol |54 A& 23,000 17,200 5,800
307 21201 & 23,000 17,200 5,800
02 QIS ER 12,000 11,200 800
O0g=sgel s s
6,000,000 6.000
ONd=sgel nMegs X
6,000,000& 6,000




A sII=dH sEMY
3 =gdg 2
el 8oy X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
04 QIZHHAMAIH 2 & 11,000 6,000 5,000
Ol g0l AAHIFN AN
6,000,002 6,000
OO M=o & EATHS X
5,000,000& 5,000
SYel SAY BHoFHl NFAMS 42,000 52,500 10,500
< 12,000
= 30,000
402 QIF X201 & 42,000 52,500 210,500
= 12,000
s 30,000
02 PIHH2 AN 2 X (OIH TR 42,000 52,500 10,500
Osgiol Satel Mozl X
500, 0002 * 1202 *7(f% 42,000
S 12,000
o 30,000
Hd=gol SMHI*H I 14,400 14,400 0
[ 4,320
Ea 10,080
301 LELEN S 14,400 0 14,400
S 4,320
= 10,080
14 JIEFE A2 14,400 0 14,400
O0E =210l SAHIST
800,000 x0E x2& 14,400
= 4,320
o 10,080
=gl Mot sHE X2 249,174 249,174 0
< 64,600
[Ea 184,574
307 elztol & 249,174 249,174 0
& 64,600
= 184,574
02 2B YA HE X 249,174 249,174 0
Os0l WAHAFHBHE KDALY
249,174,000& 249,174
= 64,600
[Ea 184,574
=eIZEN 2EEY XA 65,000 65,000 0
== 19,500
[Ea 45,500
101 e124d| 5,000 5,000 0
< 1,500
s 3,500




A sII=dH sEMY
3 =gdg 2
el 8oy X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 5,000 5,000 0
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